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1. Fill in the blanks: [10]

a) Change in storage of mass = mass transported in — mass transported our + mass
g g p P
produced by source — mass eliminated by s .

(b) Steady state is a condition in which ( cncenbesh.do not change with time. .

(c) Steady state assumptions should not be invoked when a tounas ert™ ™ situation
exists.

(d) There are primarily two kinds of physical processes by which chemicals are
transported in fluids: Lo bis,  and [Cont’d to (e)]

(e) éTLZA‘D}{‘I'\/Q/'l &on

(f) Vertical advection in air or water resulting from density differences is called
CORYLCH mp

(g) Enthalpy is the Q,ru,nj Y possessed by a mixture of chemicals in a system.

(h) Entropy is the ~=z=rd mvnrese ofthe system.

(i) IfAG=-RT In Q, the system is in = 4
I/
(j) Atlow ionic strength, the activity coefficient, v becomes very close to

/

|

2. A one-kg soil sample is analyzed for TCE. The analysis indicated that the (2]
sample contains 5 mg of TCE. The TCE concentration (in ppm) is most nearly:

(A) 5x10°
(B) 0.5
0y 50>

(D) none of the above.



3. A water contains 1.3 X 10 moles per liter of HCI (H= 1, Cl = 35.5). [4]

The pH of the water is most nearly: .
. e . . -
(A) 2.28 — ey, / B0 ]
(B) 2.58 ' N
(D) none of the above. = s %\c"?
4, A water contains two nitrogen species. The concentration of NH3 is [4]

30 mg /L and the concentration of NO3- is 5 mg/L.. The total nitrogen concentration
(in mg IN/L) is most nearly:

(A) 35.00
(B) 150.00
={(C) 285, ~

(D) 13.33




